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Al. Y1 V=500 :
H oyetucn uo% 1Ca tov HBr vmoloyiletat: r(H)+Ar(Br) 1+80=81
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é%?(l) 0 5 = 0,4M

500ml o/tog €yov 5 r
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M%=162- =2 =3, 2%

v.- Y1 owaua&n Y2 \wé

woyveL  Ngor +
CrrVi+carVa=c3 (Vi +V2)

0,4-0,5+1-V2=0,5(0,5+V2) = V>=0,1L100mL
IpocBécape 100 ml Swerdpatog Y2
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_ I o/rog = m =dv =1,12-500 = 560 g 81,(17\.1311(11209
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Q vaﬁsg 2+1
100g68ant 10gs.
10% w/w X kd0¢ goe wacnpx. S &
560g X
x=56g KOH Movaodeg 2+1

petd v e&dtpion mpokvmTeL vEo Y2 &
70 0molo ePLEYEL TNV 10100 TOocOTTA d. o@ Movadeg 2

Mkou=56¢ = % =< @ KOH W@l
nSO n
= & =04LNM4 L 0
c= V(l) 2’5 = 0,4 LM 400mL §/to

(f ;> ovaoeg 1+1
Emopévmg s&arm@ 0 —400 =100 mL H2O0. @ Movaoeg 1
%@ZTE EIITYXIA XTOY \EZ MAX
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